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Candidates must write the Code on
the title page of the answer-book.
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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 30 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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ECONOMICS
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allowed : 3 hours Maximum Marks : 100
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T fdw
(i) & @vsl & gyt o7 e &
(i) TP Jo % G 3% 3% U T E |
(iii) oG] — 5 316 — 20 3717 7 IFT0T J97 8, T4 o7 1 3% F1 & | % Fo71 &
IR T AT 4 G E |/

(iv) I GEIT6 — 8 31K 21 — 23 &g I J97 &, e Jo7 3 3% &1 &1 T Fo7) & I
I 60 I16g] & 3718 757 |

(v) T GBI — 11 3K 24 — 26 T8 o &7 IF0T 57 &, Fed% 97 4 3% 7 81 i g1
& I GHI=T: 70 3T & 3718 7 57 |

(vi) I GEIT12 — 15 3R 27— 30 35 3709 597 &, T J97 & 6 31 8 | G I979) 3 I
I 100 3151 @ 37fer 7 51 /

(vii) IR o1 & I T TF 21 817 &Y 74T JATTHT HeRgaR J1eg a1 & Hiav
ST 13377 7T TR /

General Instructions :
(i)  All questions in both sections are compulsory.
(ii) Marks for questions are indicated against each question.

(iii) Question number 1 — 5 and 16 — 20 are very short answer questions carrying

1 mark each. They are required to be answered in one sentence.

(iv)  Question number 6 — 8 and 21 — 23 are short answer questions carrying 3 marks

each. Answers to them should not normally exceed 60 words each.

(v)  Question number 9 — 11 and 24 — 26 are also short answer questions carrying

4 marks each. Answers to them should not normally exceed 70 words each.

(vi) Question number 12 — 15 and 27 — 30 are long answer questions carrying 6 marks

each. Answers to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered to as
far as possible.
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gig - A

SECTION - A

HThIAh IATE Held ohl TRHTST ST | 1

Define short-run production function.

<l ST iR FrraTai 1 9 Ten B 2 ¢ (W faeen i) 1
(A) had i sl 9

(B) ohael UehTTeehRIcHeh JcrRITTaT §

(C) (A) 3 (B) M H

(D) 3TEUTEhR H

There are large number of buyers and sellers in : (choose the correct alternative)

(A) Perfect competition only

(B) Monopolistic competition only

(C) Bothin (A) and (B)

(D) Oligopoly

fareram fifa Fma @ = e g ¢ 1

What is meant by price floor ?

fepet e <! |THT=T I e THT AT 2 7 1

When is a good considered a normal good ?

Fel I (3ATT) TR, Q ITE HEAT 3T ‘n’ $hT8 <hl AT &, df Hiuia Tenfy 77
2t : (Wl ferehed gfv)
(A) %I TR, - TR _,
TR ¥ 9iEd=

(B) F9 ) F i
(©) (A) 3 (B) A
(D) I9UH | U IS o A 1
Let TR be total revenue, Q be quantity of output, and ‘n’ the number of units, then
marginal revenue equals : (choose the correct alternative)
(A) TR, -TR, _, only
®) Change ip TR onl

Change in Q Y
(C) Both (A) and (B)
(D) None of the above
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6.  Ueh UTIT1RIeh ScdTe HHTEAT a1k 3Tadel (concave) F1 8IdT1 8 ? THEST | 3

Why is a typical production possibility curve concave ? Explain

7. e wEE “fepEeh foTe SeaTe fopa Sme” e | 3
HAYCT
H1 FHE “HE ST fRaT ST HHETET |
Explain the central problem “for whom to produce”.

OR

Explain the central problem “how to produce”.

8. e Ush o] 1 shHd T 10 Ul 361S & ReRt T 7 i gohtE &1 St B, @t s@eht | 100
gehTs H TRt 160 IS B STl & | SHeh! shiHd AT T sl TNehel shiToT | 3

When price of a good falls from ¥ 10 per unit to I 7 per unit, quantity demanded of the
good rises from 100 to 160 units. Calculate its price elasticity of demand.

9. “diuia AnTa 3R Hara 3w (Tenfy)” faft gr et w1 Sge T Sdist | 3T I

&% M8 SR ST | 4
EK] RN Hel A P

®) (313) ®)

6 1 10 10
6 2 15 5
6 3 21 6
6 4 28 7
6 5 37 9

3T

gfEd STHTaT o I o <fiF =T <t gga hifT | R €T |

qREdt AT FA 3G
(3TS) (39T3)

1 3

2 7

3 10
4 12
5 11
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Identify the equilibrium level of output using “marginal cost and marginal revenue”

approach. Give reasons for your answer.

Price Output Total cost
Marginal cost
£4) (units) €4
6 1 10 10
6 2 15 5
6 3 21 6
6 4 28 7
6 5 37 9
OR
Identify the three phases of the law of variable proportions. Give reasons.
Variable input Total product
(units) (units)
1 3
2 7
3 10
4 12
5 11
10. e &g o1 [l I THTTCId ot STcT Teohral TR ShIehi ehl SATEAT HITIT | 4

Explain any four factors that affect the supply of a good.

11. = gH hgd & b Teh ol Tferimht oTr 3 fershaant o1 o<t wean it 8, o 388 oIS W

T AR YSAT g 7 SFAT I | 4

What difference does it make to the market when we say that there are large number of

sellers in a perfectly competitive market ? Explain
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12. GUTST A} Ueh JARMM sk (%) &N § ¢ e i AR gedl 3 (@) 39 (convex)
BATE | 6

JYAT

AT gfeeama gt Y 3raemun R Tifafites SHRME ok W 3HHT SIa8R THEsT | Th
AT TR ST | $5eh SIEER o1 ST off SIdTsT |

Explain why is an indifference curve (a) downward sloping from left to right and

(b) convex.
OR

Explain the concept of Marginal Rate of Substitution and its behaviour along the
typical indifference curve. Give a numerical example. Also give reason for its

behaviour.

13. Ege SR A6 X % 14,000 9 A8 & | 38 A TH L T =LAcH AaIgl ol fHafu
% 18,000 Sfd O18 R <t & | 37 Fvim o uftommt ht s Hifsw | W@t 1 3=
T | 6

The equilibrium market wage rate is I 14,000 per month. The government finding it
low fixes minimum wage rate at ¥ 18,000 per month. Examine the implications of this

decision. Use diagram.

Faet gy werfiat & fore e T 13 % WHwW

For the blind candidates only in lieu of Q. No. 13

A AU T % HdoW SR Aegh @ § HAfues i@ e % i 6 smen
I | Toh HEATH IGTETT 1 FAT <hIfAT |

Explain the implications of fixing minimum wage rate higher than equilibrium market

wage rate. Use a numerical example.
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14. T Afh CFE Ha1 & BT ¢ | SHAT I8 o T IUR oot @ied & | I8 St T =raran
2 | 98 TR hI a1 Ased B ot <1 8 | 30 €Y gg= S e aTell $IE AT
3R JTaffed ARG SA1ST | 379 I o foTw Hror e | 6
A person starts a taxi service. The taxi is financed by a bank. He himself drives the

taxi. He also pays annual license fees to government. What are the explicit and

implicit costs directly identifiable in it ? Give reasons for your answer.

15. Ush IURHT hael g TEG3AT X 3R Y T IUNNT T § | STNATAT frveior o grr Sqeh
e i ITd TUTEY | 6

A consumer consumes only two goods X and Y. Explain the conditions of consumer’s

equilibrium using utility analysis.

g —§
SECTION - B
16. fr=fafad § & = @1 s R 7 (T faehew gi) 1
(A) TR
(B) TR
(C) T ek
(D) SR =T

Which one of the following is an indirect tax ? (choose the correct alternative)
(A) Profit Tax

(B) Wealth Tax

(C) Customs duty

(D) Gift Tax
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17. SRR Sl H YSITd e <hl qiedTsT G | 1

Define capital receipts in a government budget.

18. WA ¥ feorg weh et ot foewr # foud s gt o fowr st | IRd & A
T WTd | g TS € fohdT AT 2 « (Fa faeshed gfi) 1

(A) STEL I % ST (credit) 781 H
(B) TS @M o Sfee (debit) 9T |
(C) ST @Td o shige (credit) 9&1 §
(D) YSTTd @Td o Sfee (debit) 981 H

An Indian company located in India invests in a company located abroad. This
transaction is entered in India’s balance of payments account on : (choose the correct
alternative)

(A) credit side of current account
(B) debit side of current account
(C) credit side of capital account

(D) debit side of capital account

19. frferfaa seva @ @l wht sqd 3ifom seqd sheerre € « (T forehew o) 1
(A) STTEvIhdTsT Sl TqfE 2
(B) HH faw g
(C) (A) T (B) T
(D) SHIE H & g oft Tk

Goods purchased for the following purpose are final goods : (choose the correct
alternative)

(A) For satisfaction of wants

(B) For investment in firm

(C) Both (A) and (B)

(D) None of the above
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20. STifeh Tehel BT] 3cUTG | T AR 7 7 1

What is meant by real gross domestic product ?

21. Eid TRt Ygftt 3R Hinia s i 3 9= it a2 Sl % o R Eey R 7 3
YT
U AT Y A7 AU & 7 $Heb Heh TS |

What is the difference between marginal propensity to consume and marginal
propensity to save ? What is the relation between the two ?
OR

What is meant by aggregate demand ? State its components.

22. ShRUT ¢ §aT3T foh ATt & o Ui 31 AT 9y o1 SHa8R a1 ST 8 3
(i) S gRI U SHTHTISAT I ST B YPIAH |
(i) TEHR G TG Y I W= |
(i) R TfdH WIA G &4 & dd W |
Giving reason state how the following are treated in estimation of national income :
(i)  Payment of interest by banks to its depositors.

(1)) Expenditure on old age pensions by government.

(ii1)) Expenditure on engine oil by car service station.

23. %400 HUS T SAfaier FEw e & T 3 E 2 1000 He H Iy B B | e s
% o 1 TREhe I | 3

National income increases by ¥ 1000 crore due to an additional investment of I 400
crores. Calculate the value of investment multiplier.

24. O ST <u § YIS % UM T Hfqae o T S 8 | 36k () Tehal e 3cUTg 3T
(@) 10T W IS Tl THTET hl ST I | 4

YT

JhRIcHeh STEH IHTE] (SRUTTcHeh STel ShIUTT) H TN o hedT0] Y T IHT ISdT & 7 Teh
IETETT CohL SHTEAT hITT |

Suppose a ban is imposed on consumption of liquor in the country. Examine its effects
on (a) gross domestic product and (b) welfare.

OR
How do the negative externalities affect the welfare of the people ? Explain by taking
an example.
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25. 3fe fafess smfaa ffr smuma 20 gl & 3t 7€ S ST 2 5000 2, A1 H51 FoH 6
sk Ty | 4

If legal reserve ratio is 20 percent and new bank deposits I 5000, explain the process

of money creation by the commercial banks.

26. a1 qfd 0 A § “seh g shi fErehT THIT | 4

Explain the role of bank rate in decreasing money supply.

27. WSRO W@ A % qiErl S I 3EvIh e aT H YSH ! g |
TLHR] 91 G TR B AT Ie9 T HH T T L &I 8 3 HY 7 TUersy | 6

HYET
TS GLhT S91e g 37Tk TRReRtol o1 3239 o8 ITH fhan ST gehar @ 7

Government provides essential items of food grains almost free to the families below
the poverty line. Which objective the government is trying to fulfil through the

government budget and how ? Explain.
OR

Explain how the economic stabilization objective can be fulfilled through the

government budget.

28. TR (Fua) fafma < st o=fieft (7=) fafma et = st ve shifse | afe fafme o fird
2 1 39k fAaia 37T TR T U o1t UTE] shl ST shifTg | 6

Distinguish between the fixed exchange rate and the floating exchange rate. If

exchange rate falls, explain its effects on exports and imports.
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29.

30.
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‘a3 frewr fafa gro agar 3 o dqem T s i augmse | W@t SR
Hifsu | =g ¥t TmEsT 16 afe s oy @ rfees & at o e 2 |

Explain the determination of equilibrium level of national income using ‘saving and
investment’ approach. Use diagram. Also explain the effects if saving is greater than
investment.

Fa R TR o ToTg S T 29 & ©H W

For blind candidates only in lieu of Q. No. 29.

oy AT 3R TEy gfd fafe @ adie s 1 dgen T i 6 6 s9a i e fafy
T SHITTT | FHEITST &1 1T AT S=d FHaw | 31 & |

Derive saving and investment approach from aggregate demand and aggregate supply
approach for determination of equilibrium level of national income. Explain what
happens if saving is greater than investment.

() STOTR H1d W Hebed <M IcUTE 9T (W) et TH T 3T 1 Uieher hIfT ;

R )
() 9 fwa o Frae w1 s () 10
(ii) I Gt T SUHA 70
(iii) -t 61 fufda s 500
(iv) CIIRERIRh] 20
(v) fRlIeTreht g1 |THTTSTeh HRaT 37ere 100
(vi) EEIGERCIBNL 300
(vii) EERUGRIECE] 600
(vil))  3TIEr 120
(ix) fareott =1 faret e 3 30
(%) feptran 80
11 [P.T.O.
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Calculate (a) Gross Domestic Product at Market Price and (b) Net National Disposable

Income :

(1)
(i)
(iif)
(iv)
v)
(vi)
(vii)
(viii)

(ix)

58/2

Net current transfers to the rest of the world
Consumption of fixed capital

Mixed income of self-employed

Subsidies

Social security contributions by employers
Operating surplus

Wages and salaries

Indirect tax

Net factor income to abroad

Rent

12
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100
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